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QUESTION 1

Your client wants certain inventory items of high importance to be counted periodically to improve the average level of
inventory accuracy.

What type of counting would you recommend?
A. Serialized Count

B. ManualCount

C. Cycle Count

D. Zero Quantity Count

E. Blind Count

Correct Answer: C

QUESTION 2

Your customer decides to implement Cloud Procurement and Inventory. While discussing with your customer,you come
to know that they have a business that spans across multiple locations and they have warehouses situated across USA
and Canada.

1.All their procurement, payables, and distribution activities take place from USA. 2.They have a central warehousein
USA and after the goods are delivered to this warehouse, they are distributed across multiple additional warehouses.
The warehouses are managed separately from the requisitioning units. 3.For requesting material they have two units.
One located in USAthat monitors the current stock. They are responsible for creating requisition for any material
shortage in USA. They have another location in Canada for requesting material.

Which setup fulfills this scenario?

A. BU1: USA - as procurement business unit(BU) BU2: Canada - as requisitioning business unit BU3: USA - as
requisitioning business unit Define Service provider relationship where Canada procurement business unit serves as
procurement and payables service provider for only Canada requisitioning Business Unit

B. BUL: USA - as procurement business unit (BU) BU2: Canada - as requisitioning business unit BU3: USA - as
requisitioning business unit Define Service provider relationship where USA procurement business unit serves as
procurement and payablesservice provider for only Canada requisitioning Business Unit

C. BU1: USA - as procurement and requisitioning Business Unit (BU) BU2: Canada - as requisitioning Business Unit
Define Service provider relationship where Canada procurement business unit serves as procurement and payables
service provider for Canada Requisitioning Business Unit

D. BU1: USA - as procurement business unit (BU) BU2: Canada - as requisitioning business unit BU3: USA - as
requisitioning business unit Define Service provider relationship where USA procurement business unit serves as
procurement and payables service provider for both Canada and USA requisitioning Business Units

Correct Answer: D
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QUESTION 3
Which three statements are true regarding PAR Location Management?

A. If the stock level falls below the target on-hand quantity for the locator, inventory generates the appropriate
replenishment document based on the item sourcingfor the subinventory.

B. PAR location management replenishment are calculated at the organization level or subinventory level.
C. A receipt is required on interorganization expense destination transfer orders between the from and to organizations

D. Periodic Automated Replenishment (PAR) enabled facilities that do not store perpetual inventory (such as hospitals)
to perform locator-level replenishment.

E. Organizations can perform locator-level stock counting for both quantity and non- quantity tracked subinventories.

Correct Answer: CDE

QUESTION 4

Which three values are applicable for the profile option ?;Transaction Processing Mod"; for subinventory transfer and
interorganization transfer? (Choose three.)

A. Background Processing
B. Blind Processing

C. Online Processing

D. Offline Processing

E. Sequential Processing
F. Concurrent Processing

Correct Answer:. ACF

QUESTION 5

What are the four steps for the move request process flow? (Choose four.)
A. Physically move the material

B. Confirm pick slips

C. Create shipment

D. Run the Movement Request Pick Slip Report

E. Create Movement Request

F. Run pickslip allocation
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Correct Answer: ABDE
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